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PART A: Grammar and Vocabulary Pl o

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes 4610 sleasin
each sentence. Then mark the correct choice on your answer sheet.
131- Ali bought a lot of food this morning because he ... a party for his close friends tomorrow.

1) was giving 2) gave 3) gives 4) is going to give
132- It’s too dark. I can’t see ... two meters. Can you help me find the way?
1) as far 2) the farthest 3) far 4) farther than
133- I have a lot of interesting books, but this book is ... of all.
1) the most interesting 2) more interesting 3) as interesting as 4) interesting
134- When he retired he ... most of his large collection of books to the university library.
1) collected 2) carried 3) donated 4) kept
135- The ... of the water is not good because it isn’t clear and has many different types of microbes in it.
1) quality 2) plain 3) danger 4) orbit

136- Before your problems become too big to solve, it’s a good idea to take the time to ... them and
understand what’s causing them.
1) identify 2) defend 3) lose 4) pump
PART B: Reading Comprehension
Directions: Read the following passage and answer the questions by choosing the best choice (1),
(2), (3), or (4). Then mark the correct choice on your answer sheet.

The amount of sleep that we need changes as we grow older. Babies sleep around 20 hours a day.
By age two, children sleep about 14 or 15 hours a day, and by age ten, the amount of sleep decreases
to about 11 hours. Teenagers need about 9 or 10 hours of sleep. Children’s brains get tired faster than
the brain of grown-ups because they are more active. So, it is not surprising that their bodies need
more rest.

Adults need around 8 hours of sleep. As people grow older, their biological clocks begin to change.
Biological clocks are our bodies’ sense of time. Biological clocks tell us when it is time to sleep or wake
up. Because of changes in their biological clocks, people who are in their sixties or older become
sleepy earlier in the evening and become wakeful earlier in the morning. They may not sleep as
deeply as they did when they were younger. They wake up more often during the night, and are also
more easily awakened by noises.

137- What’s the main idea of the passage?

1) Why some people need more sleep 2) Our changing sleep needs

3) The biological clock 4) Why children’s brain gets tired faster
138- According to the passage, older people go to bed earlier because ... .

1) they have to get up early

2) their biological clocks change

3) they wake up more often during the night

4) they need more sleep
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139- According to the passage, ... need more sleep.

A i (2556 9 0L y) S o508 VFer 0259 3Y Oge3T

1) babies 2) teenagers 3) grown-ups 4) old people
140- What does the underlined word “their” in paragraph 2 refer to?
1) bodies 2) grown-ups
3) younger people 4) people who are in their sixties or older
Gl 43 il SN 4909 Jik

PART C: Grammar and Vocabulary
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then
mark the correct choice on your answer sheet.

141- The library is very far, so it ... some time to get there. We should leave earlier.

1) take 2) going to take 3) will take 4) was taking
142- 1 heard that your brother is ... and works at a hospital in a small town named ... .

1) a doctor - Hendijan 2) doctor - Hendijan

3) doctor - hendijan 4) a doctor - hendijan

143- Unfortunately, my sister’s exam results were ... than we thought. We need to support her and help
her improve in the future.

1) better 2) worse 3) worst 4) best
144- The earth is full of beautiful natural ... to see, and you can explore some of them in every country you
visit.
1) ideas 2) facts 3) cells 4) wonders
145- Last week, my younger brother ... his leg while playing football with his classmates.
1) increased 2) destroyed 3) injured 4) heard
146- It’s quite ... for some students to have difficulty sleeping the night before an exam.
1) alive 2) common 3) delicious 4) powerful

PART D: Reading Comprehension

Directions: Read the following passage and answer the questions by choosing the best choice (1),
(2), (3), or (4). Then mark the correct choice on your answer sheet.

For thousands of years, people believed that the Sun, stars, and planets went around the Earth. They
thought that the Earth was the center of everything. But they were wrong, because based on that
model it was not possible to correctly explain how the other planets and heavenly bodies moved.
Nicolas Copernicus was the first person to say that the Earth and the other planets travel around the
Sun. This was such an important change in thinking that people called it a new system of the world.
Later, scholars like Galileo, Kepler and Newton began helping people understand Copernicus’ ideas
more clearly.

Copernicus developed many ideas about the Solar System. He showed that the Earth orbits the
Sun just like other planets. It is interesting to know that he developed his model mostly using math,
without today’s powerful telescopes and observatories. Copernicus published his ideas in a book in
1543 and died in the same year. His book did not change the way people saw the Solar System at that
time, but later thinkers understood that his ideas were correct.

147- What’s the subject of the passage?
1) Copernicus’ ideas about the Earth and the Solar System
2) The Sun and the planets that go around it
3) How Copernicus used math to develop his ideas
4) Different models to explain how the planets move
148- People called Copernicus’ model “a new system of the world” because ... .
1) he was the first person to say that planets went around the Earth
2) his model changed the way people thought about the world
3) many thinkers believed that his ideas were correct
4) Newton helped people to understand his new ideas better
149- The underlined word “scholars” in paragraph 1 is closest in meaning to ... .
1) prophets 2) patients 3) translators 4) scientists
150- We can understand from the passage that Copernicus ... .
1) was the first person to use math to understand how the Sun moved
2) showed that the Sun is the largest body in the Solar System
3) had some new ideas that people didn’t believe at first
4) published his book when people understood he was right
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